- = FEE  AQUA
50mB/BH 23.57 10#k
200mBMBR ZIE

A RS B Pl S
iR Tk W= & ZTEE

2R HE FE

RHENRA b 295



% FT/E  AQUA
100m/N\F 754 1:07.77 081k
200mN\2T754 2:28.55 08#k

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

= HE FE

RHENRA 2 o 649



Ef XA EE EilE AQUA
50m&EkE 31. 71 08k
100mBEIXET 1:07.92 08k

HE-IIBERERICE VT LERD
SRR TCIKWEZ EZILET
S5 & 2 A5 H
BRBALZIVIVITRE

2R HE FE

RHENRA 2 o 677



E# #IAEH EilE AQUA
50mBH®HE 28. 51 08#k
100mBHAE 1:00.98 094k

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

= HE FE

RHENRA 2~ 939



K4 T e FEE  AQUA
50mEikE ZEHE
50mBREF ZIE

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

3 HE FE
RERA 11T



E# #H EilE AQUA
50m/\42 754 26. 05 10K
100mN\2 754 58.12 094k

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

= HE FE

RHENRA 2 707



K4 E@E I, FT/E  AQUA
100m/N\F 754 1:09. 85 081k
400mEANAFL— 5:24.08 08k

BT [FERRER IS
nafiflﬂ((:\f’ t éEIE

= HE FE

RHERA 2 694



E# #H  # EilE AQUA
50m/\42 754 29. 81 10K
200mN\2T754 2:23.84 10#k

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

= HE FE

RHERA 2k 675



K42 /I AA FT/E  AQUA
100m/N\F 754 1:03.73 10K
200mEANA FL— 2:23.73 10#k

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

= HE FE

RHENRA 2 ko 365



Ef S8 filF EiE  AQUA
50mE]E 36. 39 08#K
100m¥EKRE 1:20. 46 07#k

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

=3 HE FE
REARA 97



K& BMBEARE Fr/E  AQUA
50mBH®HE 32.79 09#k
100mBHAE 1:14.00 08#k

HE 1= ITFFLE RIS H LY
ECER Tk C & Z3E

= HE FE

RHERA L 413






